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CHSF 7t D122 OJHIE (1/8~1/12)

UKt 9 FRXE Y I OME I ES OHX| (=)
QEE MEA EXP|HXI4(1 &) - -16.8
FREZE AUEOY MoM(11 &) - 0.1%

1/8 |EZ AT YoY(11 &) -1.2%
QEE AHIXP|HXI4(12 8) - -15.1
SY SALX| HPEH(11 ) - 17.7b
012 NFIB A7 Y3X|2(12 ) 90.5 90.6
0|2 So4X|(11 Q) -64.8b -64.3b
QEZE MYE(1 E) - 6.5%

2 S AU HEZH MoM(11 &) - ~04%
ot=t BoP &E+X(11 &) - $5351.8m
S BoP ZAAX| - $6796.1m

1/10 o3 MIE HEEH(12¥) - 2.8%
0j= CPI MoM(12 €) 0.2% 0.1%
0j= CPI YoY(12 &) 3.3% 3.1%
o= 22 CPI MoM(12 ) 0.2% 0.3%

1/11 o= 22 CPIYoY(12 &) 3.8% 4.0%
02 4% BIAZYYZ YoY(12 - 0.8%
SY FHRX|(112) - 21.4b
o= 389 32T Y) 3.50% 3.50%
0= PPI X5+2 MoM(12 €) 0.2% 0.0%
0= PPl £&5+2 YoY(12 &) 1.4% 0.9%
B2 =& YoY (12 €) 1.5% 0.5%

1/12 5= =% YoY(12 8) 0.0% -0.6%
= F9+X(12€) $76.00b $68.4b
= CPIYoY(12 &) -0.3% -0.5%
&= PPIYoY(12 &) =2.7% -3.0%

HAZEQY drof | YA AHL(1/7), OHEZEL HE2(1/9), &

i

A2(1/11), OjLoiE2| A

Ae2(1/13)

X2 Bloomberg, 7|25¥ /MM
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25 FZH U2 Z OHIE (1/1~1/5)

UX} T FNXE L U OMIE YEEEX| HAIAA OFX|(&HX])
st DoAX|(12 €) 479 48.4 48.2

1/1 BHa 291 YoY(12 &) -10.8% -11.1% -11.6%
st 4= YoY(12 ®) 5.1% 3.7% 7.7%
0l= S&P 224 0|7 M= PMI &EX|(12 &) 41.9 48.4 48.2
{E2Z HCOB HZEY PMI ZPYX|(12 &) 44.4 442 442

1/2 =9 HCOB MZY PMI 2X|(12 &) 433 43.1 43.1
£ Kol =Y PMI(12 €) 50.8 50.3 50.7
oh SgP 22 HEY PMI(12 &) 49.9 - 50.0
02 ISM HZEQ PMI(12 &) 47.4 47.1 46.7
0|2 ADP FQAt HS(12 9) 164k 125K 103K(101K)
0|2 S&P 224 0= AH|AY PMI 2HEX|(12 €) 51.4 51.3 51.3
0|2 JOLTs RQI0|EETA 0111 &) 8790K 8850K 8733K(8852K)

1/4 Q2ZZ HCOB AMH[AY PMI EPX|(12 &) 48.8 48.1 48,1
=2 HCOB MH|AY PMI 2P¥X|(12 &) 493 48.4 48.4
= CPI MoM(12 &) - 0.2% -0.4%
= CPIYoY(12 ®) - 3.7% 3.2%
53 Xto|4l MH|AY PMI(12 &) 52.9 51.6 515
02 HisYE2n8Xt=(12 8) - 170K 199K
0|2 MAE(129) - 3.8K 3.7K
0= AlZME B a3 YoY(12 8) - 3.9% 4.0%
REZZ CPIYoY HEX|(12 &) - 3.0% 2.4%
RQEZ (Pl MoM ZEX|(12 &) 0.2% -0.6%
{ZZ 29 CPI Yoy REX|(12¥) 3.4% 3.6%

> QZZ PPIYoY(11 &) - -8.6% -9.4%
QZZ PPl MoM(12 &) - 0.0% 0.2%
= AT MoM(11 &) -0.5% 1.2%
=9 AD{TOH NSA YoY(11 &) - -0.5% 0.1%
0|2 ISM MH[AQ PMI(12 ”)(1/6) - 525 52.7
0= W =2 28R 2)(1/6) - - 5.4%

Xt2: Bloomberg, 7|85 2|AX[MIE.
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